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Cts. 80. -8-1

8%. 17. $181.68. 18. $206.67. 19.
r!»- 21. li% for the 3 years. g-^. 6118

$6.77. 84. 7i da. 25. At 20 mills he paid $232.73.Hi mills he paid $168.73. 3c. $5739.60. 87. $1000

68|

83.

At

88.

34. 44i%.
6i*r%, 6 82 fT/

TTFro

Penmeter of room is 18 times the height of the room. Areaof walls = 162 sq. yd. Question resolves itself into finding
the dimensions of a rectangle whose length is 18 times its widthand area 162 sq yd. ^ of 162 sq. yd. = 9 sq. yd. = area ofsquare whose side = the width of the rectangle. Width of rec-
tangle t. e., height of the wall is equal to 3 yds. Length ofroom 15 yds. and width 12 yds. Area of ceiling is 180 sq yds

fJLt^''l-^\ ^''''- ^•^^2- 31. $3125/04
$15166.48 and $5704.18. 33.11586575. 33. $21 45

^35. Consider this at the end of 6 mo. 35 cts. or

1 ..
---^^ ^*^"^'"' Considered now 34 cts. better or &i^'

better. 36. 12.10/^ p.m. 37. (a) $4.50. (h) $0450
S3 19. (.) $17.50. (.) $255. (/) $45.54. Totd $;m23-

3^. (a) Interest, $5.27. Amount, $625.27. (h) Time 1 vr
Interest $30. (c) Principal, $200. Amount, $220.50. 39. V«lo78.95. B, $1421.05. 40. 54000 yd. 4AV bu A losso $16.45. 41. (a) $12069.10. (6) $522961.56. (c) Tot"]

!« 144
^ '

""f ^'^ '''^^'- ^' ^ ™-- «• 15 ml.

f' . ^^t -T'
^- ^' *^' ^%- «!• 799587044.30.

53. TT- 63. 00.75. 54. $120. Cost of horse, $160. 55. Thestudents may not know the weight of a qr., as it is not a weight
in general use. $26.40. 56. 8000 bu. 57. 2^ yr 58
Include days of grace-$588. 59. $3000. 60. Change i to'

m%'"'il-
n':

'T' 'i""'
"'"'- -" •"^«' ^-'°:

1U7402. 63. 16j3j,V ml. per hr. 63. $8.40. 64. Time U« vr
Interest, $25. Principal. .$600. Interest. .$48. Time OQ Vr'Amount $2.25. Amount, $972.40. Interest. $132.4o' "prin-
cipal, $32.92. Interest, $3.38. a5. $84.21875. 66. H reams
88|%. 67. $29.39. 68. (a) $20.97. (6) 1| ft. 69 He


